T
ADDITIONAL DIRECTORATE GENERAL OF

———————a. R LAt SENERAL OF
ARMY EDUCATION (AE-2)

e

AT 63645 }ﬁaim } {mﬁm

ROLLNO ¢35/4S | SET /A QUESTION BOOKLET No-
e el | 902150

': ~ SECTIONS QUESTIONS ‘ MAX MARKS PAGES |
haiﬁfEEGu_sH_ | 505% (150) 1! 50 3B 2-6

| LEDGE |
’E%HW—N'TELUGENCE | 50957 (101-150) 50 3@ | 1325

| @ IMATHEMATICS | 50 9991 (151.200) 50 3l |  25-30
FTOTAL | 200 U | 200 3i® f' R

A9/ INSTRUCTIONS

1. i fedi & ford or a2 62 30 fme @ 1/The maximum time for all four subjects
is 2 hrs 30 min

2. wiigw e SR e e & agdehos sada # | T IR B O} 37 Al
DR A | e B Refa 4 oish 3 ow #) ame wwEn IRI/AN questions are

COMPULSORY and objective type with Multiple Choice Answers. THERE IS NO
NEGATIVE MARKING. IN CASE OF AMBIGUITY ON ANY QUESTION, THE
ENGLISH VERSION BE TAKEN AS FINAL.

3 feretios= &am @ret srran <fict e @ 9 a1 & &Y 1/Please use BLACK! BLUE
Ball Point Pen to completely darken the circles corresponding to the correct answers.

4. gws @ 31 - 32 B 35 3 & frd oig 7 @ 1/Page Nos. 31 - 32 have been
provided for ROUGH WORK.

\/The candidate must darken only one circle. If more than one circle is darkened. it
will be treated as wrong answer

6.  wdan ¥ aw e gi Friles 1 dierfl @ ohan @ @9 & aw afame ges g

A W dw< o1 w@a & |/ PLEASE RETURN THE ANSWER SHEET TO

INVIGILATOR AFTER THE EXAM IS OVER. THE QUESTION BOOKLET CAN BE
CARRIED ALONG BY THE CANDIDATES ON COMPLETION OF THE EXAM.

B — — - :
CET/DEC 2022/CLASS- VI/ SET A o ==—=—“Page 1 of 32
SHECCA22:P6 -SET A-1 A



Ving passage by choosing

that (1) _
| sSe. Thel‘E 1S a

the beautiful sights, t
at make the cruise

the correct optloh“flbm

best way to take a vacation is to go (2)
lot one can do while (3)
he outdoors games {4)
a memorable experience, there is always sometning

across the
the variety of

everyone do. _
2 ugfon  ()in (©) at {dyinto
3 asaling (b)sailed (c) sail (d)safls 3
7t (a) but (b) only ey and (d) also _'
5. (a)from (b) with (c) to wid) for = |
Il. Choose the correct meaning of the idioms / proverbs given below: ;
6.  Todiein harness. = i -'
(a) die on a horse back (b) die in the battlefield =
. (o} die while still working (d) die with honour =
Ry
7. Between the devil and the deep sea E
\{a)in a confusion (b) a man who is drowmngg—
(c) to be evil-tempered (d) a deep sea diver j s
%
8.  Not able to make both ends meet =
(a) control affairs (b) work hard =23
(c) manage the business Ad) earn enough "
il ¢
N b -
9. Anapple of discord - | .
(a) cause of happiness (b) cause of iliness
(ej cause of quarre| - (d) cause of wealth i
10, \g;ix and sevens &
(27in diso : ;i
(c) very sardder (b) ?ew -hap_py T -
= (d) in perfect order -
| ord that best expresses the meaning of the given \\'0 E
1. Admire = ;
3 praise g
(c) possess (b) quality F
& (d) insult
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12 Bitterness
(a_} mif{_:tness (b) kindness
(e acrimony (d) sweetness
13. Blessed
(&) holy (b) curse
{C) condemned (d) immortal
14.  Busy
(a) weary {¥) preoccupied
(c) ignorant (d) active
13.  Delivered
(a) bundled (b) spread

{ey dispatched

(d) displayed

IV. Fill in the blanks with the most appropriate ‘Subject-Verb Agreement’ (5)

CET/DEC 2022/CLASS- VI/ SET A

25.

{c) Consentious

16.  Either of Yoo responsible for the programme.

(a) Am (b) was (c) are (d) is
17.  Athousand rupees . . ~-----Spent daily on buying food.

(2 s (b) are (C) was (d) were
18.  Ramesh ......... to school everyday,

(a) Come {b) goes (c) go (d) ran
19.  ..........this work be done?

(a) Must (b) could

(¢) can (d) Should
20; 5 =Shei s her hair with a hair dryer, |

(a) Dry (b) blow e} dries (d) wets

V. Mark the correct spelt word: (5)

21, (a) Febrary (b) Februry

(€) February (d) Febraree
22, ) Independent (b) Independant

(c) Independint (d) Indipendent
23.  \(aj Miscellaneous (b) Misscellaneious

{c) Misccelaneous (d) Miscelaneous
24.  (a) Embarass (b) Embarase

(c) Embaras (d} Embarrass

(a) Conscientious (b) Conscenteious

(d) Conscentious




\/|. Choose the correct tense form from the options given below: (5)

26. The boy is playing Football
(a) Present Perfect
(c) Simple Future

(b) Past Continuous
(dy Present Continuous

o ' f years ago-.
27.  The stone age man lived milions O (b) Past Perfect

o B e

28. She has been waiting since morning.
(a) Simple present .
(e} Present perfect continuous

(b) Future perfect
(d) Past continuous

29. My mother will be mixing the cake batter.

(a) Simple future (b) Future perfect

(e¥ Future continuous (d) Present perfect
30. | have completed my homework

(a) Simple past (b Present perfect

(c) Past perfect (d) future perfect

yil. Read the passage given below carefully

Language is a wonderful gift given to man No animal possesses this gift, but
‘they have their own way of expressing themselves, When a rabbit sees an enemy, it
runs away into its hole. Its 1ail, which is white, bobs up and down as it runs. The other
rabbits see it and they run too. They know that there is a danger. When a cobra is
angry, it raises its hood and makes itself look dangerous, This warns the other animals.
When a bee has found some food. it goes back to the hive. It cannot tell the other bees
wh_era the food by speaking to them, but it does a kind of dance in the air. Some
animals say things by making sounds, A dog barks when a stranger comes near.

Q  Answer the following questions choosin fi '
b . g the option you consider the
most appropriate in your answer book. fdh (5 marks)

3. I?t;w is man different from animals?

ajman has the gift of long life  (b) m ‘

) man | ) man has the gift of a st '

{cfman has the gift of speech  (d) man has the giﬂ of mﬁgﬁ:rp g

32.  How does the rabbit giv iqn -
\ _ €as

(@)t holds up 18 Eaﬁ? ianal of danger to other rabbits?

(b} It makes loud sharp cries

[G! l_t tells tljem in its language

(27'it bobs its tail up and down as it runs
33,

How does a cob

: : la wamn
'Ea]-_ﬂ makes loud sharp c.t:-ilz Pier animals?
(B) it he'ds up its 14 2

‘11]—' it faises jis h T
: Qoa
(d) it lowers its hs‘.eaﬂ'“:i =

&B_—_—_— ¥
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34, How dpes a bee communicate about food to other bee
(a) it flies to the hive
(o) it does a kind of a dance in the air

(c) it speaks to them in its language
(d) it carries some food particles to its hive

a5 A dog barks when a stranger comes near. This is an example to show
that -

(a) dogs can bark

(b) dogs don't like people

{c) dogs cannot communicate well

{d} some animals communicate by making some sounds

Vil Choose the correct options: (5 marks)

36. Someone has stolen my bicycle. This is same as —
(aj] Someone stole my bicycle
{o) My bicycle has been stolen
(c) | have given away my bicycle
(d) A thief has stolen my bicycle

37. My father gave it to the mechanic. This is same as —
(@) It was given to the mechanic
(b) It has been given to the mechanic
(c) The mechanic has taken it away
(d) The mechanic got it

38. It had been thrown there. This is same as —

(a) It was thrown away (o) Someone had thrown it there
(c) Someone threw it there (d) It is thrown there

39. Please sit. This is same as -
(a) | order you to sit

] _ (b) | ask you to sit
€} You are requested to sit

(d) You are ordered to sit

40.  He said to me. "Where are you going?" This

(a) He asked me to go there. TiigETe
{0) He asked me where | was going.

{c) He said to me where | am going.

(d) He said to me where am | going?

CETIDEC 2022/CLASS- VI SETA
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IX. Choose the wo four O tions which IS similar in
yose the word from among the P A

meaning to the given word:

41. Ancient
m‘: by very old
{é]-iigl'y (d) beautiful
42. Tiny :
{a) small EE?. ar
{c) near
43, Huge o
(a}g{.:le.-an {.bf larg®
() ugly (d) dirty
44, conquest
(ayvictory (b) release
{c} destruction (d) peace
45 Begin :
(a) cruel (b) kind
(o) Start (d) stop
X. Fill in the blanks with the appropriate prepositions given below! (5)
46, Holiis .-.--oo 10 November.
(a) In (g on
(c) the (d) of
47. Gandhiji lived ..o the English rule
(a) In (Y during
(c) on (d) under
48 They finished Work ..o sunset,
% f: (by before
(d) during
49. |Iwill t j
o Gi.r*.]all at your house sometime ._........the evening.
(c) during {.b] n
(d) of
50. Shankar's birthday i e ;
(a) On = A
{c)in (b) at
(d) between

CET/DEC 2022/CLASS- VI SET A |
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=T A/ GENERAL KNOWLEDGE
3W@aﬁ’rﬁ}imﬁrmﬁ:%aﬂﬂﬁmﬁmmﬁmw

51
#7/The International Date Line runs through which of the following two oceans?

(a) WRAITEAHRTESHETINR /Pacific and Indiah Oceans
(b) RReF AR AR I FIFEFAZEIT /Indian Ocean and Atlantic Oceans

(e} TR RATBREFAREIR /Pacific and Arctic Oceans

(d) IFEATTCHARUATTISTHIR /Atlantic and Pacific Ocearns
wdl sfear gy Ay 2021 # frm Usw 3 o vt wf@E fRET £ Which

52.

state has clinched the top position in the Khelo India YouthGames 2021?
(a) TaTeH /Karnataka tiefamm/Haryana
(c) 319 w2 2/Andhra Pradesh (d) 3318T/Odisha

53. AW dREhedle THITHUAS (THAT) # g3 S a1 geel $RA # SeA

rheare RSN BT ad?7 /Who became the first India born basketball player to

picked in National Basketball Association (NBA)?

(a) HaaTA A% /Satnam Singh (b) gtk =iera /Balbir Chauhan

(c) a=dR 8% /Balbir Singh (d) T2 T3t3 /Ramesh Rathode
w8 H yE F M AT gy Ao frw A7 # gurt & 2 22/ Agni

54.
path’ scheme which was launched recently, is associated with reforms in which field?
{b) I&71 /Defence

(a) gferd /Police
(c) Ffaa Jar /Civil Service (d) SIS HeoT [Tribal Welfare

55. 2022 W fGW HRA YT A WA & 98 IR H ¥ v & w0 I A=A
&1 912 &2 MWhich Indian city has been recognised as one of the ‘Tree Cities of the

World' in 20227
(a) ReUaTE [Hyderabad (b) ¥=1% /Chennai
(c) @fea /Kochi (d) #HT Mysuru
56. AT gedd HHARTA @0 AT # fFud & The Netravali wildiife
sanctuary is located in which state?
() Nl /Goa (b) BIH Kerala
(c) FErsiresr Mizoram {d) 31227 /Odisha

CETIDEC 2022/CLASS- VIl SET A 2 Page 7 of 32



P 5w %ﬁﬁiﬁa#ﬁﬁmmﬁmmg?
st in which of the following states?

Estival is celebrated
I/ Telengana (b) &Y /Kerala
(d) 3y W& /Andhra Pradesh

- Tamil Nadu
gfar Hua TAHE iﬂmﬁﬁﬁﬁﬁmﬁaﬁﬂaﬁiﬂ" %
70 India Open tournament IS related to which among the following sports?
(a) foFdE [Cricket (b) it (Hockey

(ef e (Golf (d) Fedrd /Football |
}

59. meﬁmﬂﬂwwmmmﬂ'@”he
Thaipoosam festival is celebrated by which one of the following religions?

(a) $HTEAT [Christians (b) FEATEA /Muslims
(c) g3 Hindu (d) Tl /Sikhs

ﬁu.mtﬁamﬁzozzﬁhﬂmuawmaﬂwm?wmch

Tennis player won 2022 French Open Men's Singles title?
(a) ats SAniias /Novak Djokovic (b) A5T HE /Roger Federer

(cy I 5T /Rafael Nadal (d) Stfffas fava /DominicThiem

Gi.l e ¥ PeatatE o @ Reu AR @ ww S & 7 ¥ S0 AT 87
/Which among 1_.he following temples of India is known as Black Pagoda?
(a) §F #fex. Fomeht (Sun Temple, Konark

(b) gEAR A2, TS [Brihadeeswara Temple, Tanjore
{c) saTaTey m;‘r #feR, 98 /Lord Jagannath Temple, Puri
(d) Maedt FHfEx, FGY Meenakshi Temple, Madurai

62. HIUEE HETA o O (IREN
(IRENA) @1 HEATHYG
headquarters of International Renewable Energy Agency H?EN: ﬁ-‘ﬂ?}{ 2 /The
are locatedat ?

(a) &% /Dubai "
(c) T /Geneva (&1 A YT /Abu Dhabi

63. @ # - (@) RWTE Miashington

. H e :

/Cumbum Valley, the mﬁem w DIH T R ey #

(8) FERTE Maharasht lle valley in South India i | - Fat2
2 b ocated in which state?

(&) ATTZ [Tamil Naduy (b) atves /Karnataka A

(d) 37
) TSI gror Andhra Pradesh

CET/DEC 2022/CLASS. VI SET A
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!5 aao dA61 Aafaiad # ® 5w 15T @ @9 9 g9edl ¥ /The Ch

River does not flow through which one of the following states?
(a) ALY U29r /Madhya Pradesh  (b) TSFYTE /Rajasthan

(e I[TG/Gujarat (d) 39T WS QI Uttar Pradesh

65. HERAT JASG & AN HEI TG W H UIC IAA &7 /People belonging 1o
the Sahariya tribe are predominantly found in __ ?

(a) 3BT /Qdisha (BT ACT ey /Madhya Pradesh

(c) FERTE /Maharashtra (d) 3w Jharkhand

66. HfAT T (FARN TRT) A 9gF el are HES €2 /The chemical

used in indelible ink (Election ink)is 7
(a) BIf3T& AEee /Sodium Nitrate
(b) GRERH ATIET /Potassium Nitrate
(e Tay arsee /Silver Nitrate
(d) Breay 3matEss /Silver lodide

67. eafaf@a & ¥ g< TvRIs F gayu IR 2 To which of the republic of
Buddha belong?

(a) for=adY /Licchavis (o) T /Sakyas

(c) Aeer® Mallas (d) 39h H ¥ P15 AL /None of the above

68. WARGHAEE & W qadew FRfT & & fhw www ¥ ey

47 Tulsidas, the author of Ramcharitmanas, was a contemporary of which of the
following rulers?

{a) 3¥aT [Akbar

(b) &A1Y /Humayun
(c) UTESTET /Shahjahan

(d) 9 M Fo /Sher Shah Suri

69. ffuew fHadr ofas gead & Tripitakas are sacred books of-/
(a) di< /Buddhists (b) &€ MHindus

(c) ¥/ Jains (d) 3UUF F A B TE /None of the above
70, 7 EFEH foa T cli
S bemeena'wi:h mm:ftrﬂ::j & @ & @ 22/ The Radoliffe line' is a
fa) ¥RA HX SfHEATE /India and Pakistan
(b) ¥R 3{ix =i /india and China
(c) ¥Ra X FATAR /india and Myanmar
{d) 91T T HDHMIAEAT /India and Afghanistan

CETIDEC 2022/cL ASS.

VIFSETA
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] ;f-mmqmwamqﬂaﬁﬂmqﬁmﬂmmh
- station in India is built completely indigenously?
(b) Trac AT /RawatBhata

) EGLERT /Kalpakkam

is the oldest mountains

Tarapore

& gad Qe Gdd AT A & &2 (Which

(b) fasarad Nindhyachal
(d) el qarfzat MNilgiri hills

The members of the

: -' 3raell (Aravalis
(c) ¥aUsT /Satpura
3. Wﬂrﬂ*mﬂ’fmgﬂlﬂﬁmﬁ?mﬁﬁmm?'

Rajya Sabha are elected by-
(a) Si<tal /the people

(b) SreRE 3T /Lok Sabha
ey Taame ®HT & Afifra geEd lelected members of the legisiative
assembly
s of the legislative council

(d) A= aitwe & S TeEd felected member

24 adea eeEst & The present Lok Sabha is the-
(a) 1597 TTEEET /15th Lok Sabha by 17d1 dimEa /17th Lok Sabha

(c) 18t F=p@e (18th Lok Sabha (d) 1681 crmwe /16th Lok Sabha

75..%mﬁmﬂﬁﬂﬁmﬂmmmmwﬁmaim#wm
2 (Which of the following is used as a moderator in nuclear -reactor?

(a) 21F# (Thorium Y AAwTSe (Graphite

(c) ¥=T3 IRadium/ (d) W=TOT gTeAT /Ordinary water

= o o prd e e &7 [ Where is Indian Stock Exchange located?

(a) etita/ Gurgaon b 7w | Mumbai
3 ai
{c) #ra=1/ Noida (d) s/ Kolkatta
77 wrdm gt SareE s B Rem &2 £ Wi i :
S : here is Uranium Corporation of India
(a) svaem [ Jaiselmer (b g Jac
(c) dmers{ Bengaluru (d) W!_[f‘:::‘.légt)da
a
78 <ria tan wefaumera f5 8 R R
situated? e Rem @ [ In which city is National Defen :
\(d) = fredh  New: Delhi b e Ccuilege.
(c) geé I Mumbai ( u) <55 / Chennai
(d) @t / Bareilley

M
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79

80.

81.

82.

83,

84,

8.

86.

87.

88.

S AT g i 8y & o fean smen 7 / For what field is Norman Borlaug
award given? |

(a) xen/ Defence (b) fasm= / Sc_;lence

(c) =R/ Trade (df i [ Agriculture

I qree 5w &% @ wafya &2 / To what field are Grammy awards related?

(a) weer/ Publishing (b) s/ Science

(ef = fal Music (d) = / Sports

DR R s s s €7 [ What is the study of cells called?

{4) wmgarersh { Cytology (b) smfga/ Genetics

(c) wrayesh / Myology (d) wwswEnst / Phycology
diferal 24 2 @ w817 / Who discovered Polio vaccine? .

(a) 3= e, v2w ! John F Endus (b) =k Frere { Charles Nicolle
(c) o8 wak / Louis Pasteur (d] st e [ Jonas Salk

o 1 2 e A it RrerfE werms &2 / Which vitamin helps in clotting of blood?

(a) A (b) D

) K (d) E

o & s Fn dEa € 7 / What is Methane commonly called as?

(e) wrei / Marshgas (b) fem@ w1/ Quick Line

(c) Wrzen / Soda ash (d) & / Hypo

faea smaw @ s = &7 / What is the unit of electric current?

{a) pera/ Coulomb (b) @/ Watt

(c) dree/ Volt {d) efgax ! Ampere

"3 T 91 A1 §9% fswA foredl? / Who wrote 'One life is not enough'?

(a) gavr e/ Yuvraj Singh (b) wzaz Riw/ Natwar Singh

(c) Fé= amaen/ Naveen Chawla (d) frsads / Vikram Seth

w2 F4IS e fed fen? [ Who was honoured with the first Jnanpith Award?
(d) shesxpou/G. Sankara Kurup (b) @ aergR e/ Lal Bahadur Shastri
(c) ez =1 Mihir Sen (d) T @rsht / Gautam Kayji

ffra A 2 A ¥ | 9Rad 8214° E mamwmaam? / It is Noon at Greenwich,

What will be the time at 82'4°E India?

89,

(a] 5:30PM (b) 5:12PM
(c) 9:00PM (d) 2:30PM

B WA 73 Fed W &1 e @31 3@ &2 [ Which state produces maximum

raw sikk in India?

(a) 3=/ Assam (b) afam dme | West Bengal
(c) fae / Bihar id) ®fes | Karnataka
CETIDEC 2022/CLASS- VIl SET A e o S
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a lake situated?

1 e ? / In which ctate IS Chilk
G s/ Odisha
rak‘hand

\
(d) e/ Utta
# / Which of them IS an old fold mountain

aﬁﬂqﬂﬂmmzﬁh#
_ e Aravalis (b) eaera/ Himalayas
| W= iéﬁ*WfZaskar (d) W.’ ShlVBllkS
92. R 1 F0A uﬂmﬂmﬁuﬂaﬁwﬁﬁ?ﬂmﬁ'mﬂﬁﬂn
which city is the only private sector refinery set up by Reliance petroleum Ltd
located?
(a) Tt | Guwahati (tyy e/ Jamnagar
(c) gsai.'Mumbai (d) ST [ Jaiselmer
93. Wﬂaﬁﬂﬁqﬂﬂﬁm # | Towhat <oils is volcanic eruption related?
(a) Tt Black (b) s:mgmmlluvial
(c) aexwe ! Laterte (d)-ﬁﬁﬂﬂ%aﬁ / None of them
94. ﬁqﬂﬂﬁmmﬁiﬁmqm =& # | Which of them is not a tropical tree?
(a) w1/ Sal (b) srfA/Aruna
(c) wewrt/ Mahogany (dy @sr / Cedar
{35. mﬁm‘rm«éym&'amﬂqaﬂmfmﬂ / Which kingdom first used elephants
in battles?
(a) Bt/ Kosal (by Y / Magadha
(c) g | Palas (d) 3 / Avanti
96. ai%miﬂﬁrmzmﬂgmmwmn did Jallianwal
(2) 1919 ® e take place?
(SRt (d) 1939

m.ﬂmmmﬁum# . -
. s % e A amar? / During which Indian ruler's reign did
i

97.
|bn Batuta visit india?
(a) segar/ [itutmish
Lb}'mnzmmwauddin-xhalji

(ﬁ‘rIWfHWI Mohammad Bi
(d) @ | Balban iy Tughiag

g8 wRaBE sReA A En? / , ;
ia) 1943 gan? / When did Quit India Movement tak
c) 1944 (b} ake pl
(571942 place?
(d) 1945

E‘rxnecz!g.i —




P

gy Az ara A Reel oo &1 TR 5w 209 fkar / From which country did Subhas
giandra Bose call for "Delhi Chalo" movement?

(a) Tw/Russia (b) s/ Japan
(c) seeht/ Italy td) Rmgx / Singapore

from South Africa?
(a) 1916 (b) 1917 {€) 1915 (d) 1919

HeX e 1 s Mz 2 e & 31k 50 mz?a’fsar%f 1 39 U g@Y W fereh gy €2

Rahul and Govind start a race, and together they run for 50m. Rahul turns right and
runs 60m. While Govind turns left and runs 40m. Then Rahul turns left and runs S50m. While
Govind turns right and runs 50m. How far are both now from the each other?

(a) 60m (45 100m (c) 20m (d) 150m
102. 37579 &7 999 &) Choose the odd one.

(a) Strong / sTsga {0) Hesitant /fexrfrange

(¢) Daring /e (d) Brave fawIeY

103. A v oo gear S o HI U3 Ua &

IS /Answer the questions based on the
number sequence below

543 589 657 758 732 685

ﬁuﬁm#m%@ﬁ%ﬁmﬁmﬁmﬁmmmmm@

HEAT T B2 If the first and last digits of each number are interchanged what
would be the second largest number?
(a) 756 o) 857 (c) 885

104. IR v gear s uEe 3 3 3 T
HEIT 1 292 Answer the questions ba

(d) 874
T #mﬁw’ma’ra@ﬂ I qEY

sed on the number saqr._r'enée below
543 589 657 758 732 685

Wﬁﬁmﬂw%-aﬁmmmm%? Which number in the sequence has
the highest sum of its digits?
{a) 758 (b) 732 (c) 685




gome |eaders are 28 corrupts as Mahesh,

T3 2 AR FT® we | gtatement

fredy; /Conclusion:

] e | (Mahesh is corrupt
(b) ArRrETHES | /Most of the T
(c) FRRTEARE iMahesh is not corrupt:
(d) AT [Leaders are not corrupt

g 3T &7What replaces the question m

aders are corrupt.

107- wAaTaE e & TUE 01 ark?

ame Pattern and on

s e figure is different frorn'theiﬂ’l

e otha
r four) as your answer




.
g RERTE WA H, RS (@), (@, (@) iR @) # ¥ 5 ator ofy o o

o T amare | In the following question, choose the correct mirror image from the
Shernatives (a), (b), (¢} and (d), when mirror is placed on the line AB.

(o & 5l

el

VR R e e e

(a) (b (c (d)

(a)a
b
(c)c
(d)d

110. THI33 3THS SW Spot out the embedded figures

>

h -

(X) |
4 . 7 DN
b [+ [ & [ A
(2) (b) (c) (d)

(a)a
(b) b
(c) ¢
gy d

111, Eafafaa v teet & o 57 compl

ete the following given Pattern |

./‘
2 " L‘:—‘ L ! :.;v’v 2 ‘%‘;! Yl eVe 4
- < b, : 3, : b '_ " 7
S| Y (g | 9% e

N
_?,-a

<]
o
L

_ : : (3
ﬁ _\{] Y. Sh & .J'- . >
® }c{'&f > A ,%’A_—’

Page 15 of 32



- AT Ry
#wmﬂm,mwmﬁﬂﬁﬁaﬁﬁm* h f‘?ﬂﬁ
) ﬂgmnﬁﬁﬁ wmmumm%”nt 2 Dlw
A ar s the transparent sheet,

- one which resembiles the pattern tormed when hown by the arrow,

- jrection $
‘design is folded along the dotted line along the diréc

(X)
: = e () (<) (<)
\(a)a
(b) b
{c)c
(d)d

113. mﬁwmmzﬁ:ﬁﬁnwm&rﬁmm (X) T o % THTE &) Choose the |
box that is similar to the box formed from the given sheet of paper (X).

&
+ e
L) :
- @ Y P |
(X) (a) (b) () {d]
(a)a |
({b}b _.
(c)e - l
(d)d !
114, oo oo Riseat 3 & wdfirg :
S T2 &1 949 RfF | Select the rejat
e e I 9 ed word from the

. Matter: Vacyym: Government-

\A3) 3T | Anarchy j
(6) e | Democracy 1
(€) TSI | Monarchy j

i

—




frr 7o faeut # § H4T9T HERT &Y 3T | Select the related letters fro

115

altern atives /

PQUT: VWAZ:: LMQP: _?
(a) RSUT
{b) RSYX
(] RSWV
(d) RSVW

116, e v e ar Rawat # § TR ve yar & € oafd ve wag @ wailg a8 | as 94

1 g8 & fagdia 811 Out of the four options given below, four are of a kind while one does

not belong to the group. Choose the one which is unlike the others.
(a) APBQ
{5) CRDT
(c) EUFV
(d) GWHX

117. Rl g swe # vsraras Ries & €41 9T 37 H1EA97 2 What will come in

place of the question mark in the following number series?
24, 100, 404, 1620, ?/

24,100, 404, 1620, ?

{a) 6484

(b) 6845

(c) 6248

(d) 5890

118. & AR 31z smar &, O AT &1 '$%' formm ST & 3 'SR emda i '@# AR
T S B '$@' foram s & ar, pen' & fAT gz &3 £2 /in a certain code language,

pen pencil' is written as '$%' and 'eraser sharpener is written as ! ! i "I
written as ‘$@". Then, what is the code for 'perfl?? SR ek
(a) #
(b) §
(c) @

(g} %
119. ﬁﬂ?{ﬁtﬁaﬁ &I Afdhen o7 3 cqafEeT 5% Arrange the following in a logical order:
1. OIEalFH /Post box

2. 99 /Letter

3. [T /Envelope
4, F5feradl /Delivery
5. ST /Clearance

CETJDEC 2022/CLASS. vi/ SETA
S/16 CCAR2.pg SETA 3 Page 17 of 32
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eets a man at a marriage part
an related to Mrs. Dixit? ) 3
(b) THX [Father-in-law g

wd) TS /Brother-in-law

e the following in a logical order:

& 1

A 3 coyatead AT Arrange the following words m
Qljmﬁmmmaﬁﬁﬂﬁﬁ‘ i

.
i 4y A

2. mﬁi‘ Consumption 5
3, faw /investment

4. yfeaf3a [Per capita income
5. oéndt (GDP

\.@’23154
(b) 4,3, 1.2,

5
(c)4,3,2,1,5
(d)5.2,34 1

123 = e R v

"méaninm 912} 1 3t 75 3t cqafEud FTFT Arrange the following we
1. 37 District
2,911 Nillage
3757 /State.
S m Mehsil
241,53

ClE
025,413



(a) 53 and Z
(y51 and Y
(c) 50 and Y
(d) 52 and U

125, AFEATAAd g W Sraw T /Consider the following matrix:
2 5 7 8 ? 1
2 20 42 56 72 0

S oo AR 3 oF §EA 18?7 What is the missing number in the given matrix?
(a)s

(b) 0

()7

(d) 9

126, y@ﬁ'{(xmmmﬂumﬁzﬁm‘im(B),{cysﬂt(o)ﬁﬁwﬁaﬁmﬂﬁﬁmﬁr

o ATIT| Choose the correct mirror-image of the figure (X) from amongst the four
alternatives (A), (B), (C) and (D) given along with it.

M A L AN

INIENIEN s
(%) (a) (b) |

fa)a

(b) b

(c)c
(dyd

(c) (d)

CET/DEC 2022/CLASS- VIl SET A . —
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.
) %1 Find out the alternative

127, T dTem S e e o 3 5 ¥ A gt (

figure which contains figure (1) as its part.
i "

G e
el R 5 ¥ T el E7Which Lnswer figure replaces the

3 ___ Answer Figure
lelele] |[Re@®
- ) ¢ d)
} ; g FYET STET & e S

129. Wﬁmﬁﬁ#maﬂﬁﬁﬁﬁmﬁiﬁtﬂwm
T & | Find out from amongst the four alternatives as ta how the pattern would appear
when the transparent sheet is folded at the dotted line.

i [ O [N [

[X) (A) (B
wrh B) (C) (D)
(b) B
(c)C
{d)D

130, TS ua & 2 fEuiat '
T W £l Two positions of a cube are as foll
ollows,

:T:ETW SETHAR & gy
Wi

ara | beonthe top if number 31
(6)5 'S at the bottom
()1 ;
{dy6




1o ‘Teaching' In the same way as '‘Doctor' is
(a) 41 /Medicine
(b) FEW /Prescription
(c) T /Examination
{d] 3UAR /Healing

132. 139 woR R & way Seley ¥ &, 389 yeR 'gHT & @ay f6Ed §2 'Day’ s relate
to 'Calendar’ in the same way as 'Time' is related to:

(2) €8 Watch

(b) &€ /Hour

(c) g 1Sun

(d) FHETE Week

133, @M v e 9i fa@eut # | e v 9aR & € Fafs v wap @ gafid ad ) ag g

1 gg1 & el #1/0ut of the four options given below, three are of a kind while one does

not belong to the group. Choose the one which is unlike the others.
(a) 3HY /Just

(b) &1 /Fair
(e} HIq o [Favourable
(d) =TI [Equitable

134 % BT He 5 #, 'commit also make policy’ @ ‘%ed ly6 #16 @o4' Tarar EIGIES
QIR 757 TR Ha1sa 3 1y6 @r5 %e6 #es' foran s &, oty HATFes B UES Hy
1e5%d4 #e6 @ws' Tormr FTaT &, 3T o A U7 HfEwE &1 %16 #es 'p4 @t6' Torer stran &
T, '#eb #e5 @04! T1 a0 5 27 1n 2 certain code, 'c

‘%ed ly5 #6 @o4", 'policy craze anger mobile’ is written as 'lyg @
#6 @od', : Yo @rS %e6 #e5'": | i
iourse prize' is wr’men as ‘le5 %d4 #e6 @w§’, and 'craze manner pPump artist' is w‘:i:;: o
%r6 #e5 Ip4 @t6°. Then, what does #eb #e5 @04’ stand for? / s
(8) THEATBR EH HAD /artist mild craze

(b) P 3 = /also make course
(e} 8% WY UTSTFA /craze also course
(d) T I AT fcommit course mobile

135, A+ At I e, e ara v

ommit also make policy’ is written as

ST e oy
Sar i i 5‘5!?-1—13..11.'.15_3*2_
TIATFIR +' stands for -, “'stands for XX stands for “and +'stands far s £
what is the value of 56x7+13.1 1+15-8+2.72 ands for '+ -Then,
(a) 30 (b} 60 e

2]



given words in a logical order

13. R I greey o) Afhe 3 cafee FLAmrange the
1. FATEHIAIET /Dough
2 AP /Bread
3, e [Grain
4. gt /Plant
5, =T Sandwich
(3)1,2,3.5. 4
©)3,2.5 1.4
(c)2.3,4 5.1
(dy4,3,1,2.5

137, T dofeum P A
alternative figure which contains figure
Question Figure

= e

(x) - b <
(a)a (b) b (c) c

mﬁﬁmamﬁm@ﬂ(xm Find out the

(X) as its part.
Answer Figure

(d) d

138. ﬁmmmﬂﬁvmﬁmﬁmﬁwﬁm%l Find out the

alternative figure which contains figure (X) as its part

Question Figure Answer Figure
. a
(X) : : 2
(a)a (b) b
(c)c
(chy d

138, A% Jfeus Fgpfa
_ Ha Hfae T #r & w5y
alt i &
emative figure which contains figure (X) as its part # HFTA (X) ¥l Find out the

Question Figure

Answer Figure

22



ey

g SR AT £ S s & 59 A 3maTa (X) &1 Find out the
P -4 Cill 1 :

140 Zﬂgufﬁ which contains figure (X) as its part.

rernative T5

Question Figure Answer Figure
ﬁiﬁ‘
at e
Nyl
=] B
(X) (a) (b) (c) (d)
(a)a (b) b (gjc (d) d

frw 5 141—142g A A ¢ weA A & o & g7 T« § g A
w@ﬁw%aﬂiﬁﬁ%ﬁlaﬁfﬁmwﬁ;ﬁﬂw @ dfda
S 1@ I F fiwe 8 waar & | oy o & & awl &1 e faw
sy ¥ Wl Awe 41 § | Directions (Question 141-142): Each of the

questions given below contains three elements. These elements may or may not

have some intense linkage. Each group of elements may fit into one of the diagrams

lettered (a), (b), (¢), or (d). You have to indicate the diagram in which the group of
elements fit correctly.

() li;\jlb) T—_— (c) (d) II

141

HUSH | 9igeie, HiHd Teachers, Pilots, Human beings.

142. fe1d | Haw , $d /Sweets. Oranges, Fruits

T;Iéﬂ;mm—usa:hﬂf&qwmﬂﬁmﬁﬁmﬁmﬁm
|

qﬁmﬁwmtﬁwﬁmﬁﬁwmmtﬁﬁﬁ%@m
el g %1 Ryt a1 ) ey As—de4l & 1= 2 a1 e afa @
UCHEr S2id] SywaE aval @ 4@ €, 981 HEifS Hdtl ] arer—areny
TRINT § UE gEE AR g HiE S dd AaE § aeam | g @
I 419 fYeg o1 = fafed &g 3 afdfa fear mar 2

mﬁm,#@m.w,gﬁm,ahﬁaﬁ?qmwvﬁm?$m
aﬁqaﬁqmammiré?maﬂaﬁmnﬁmaﬂwﬂaﬁimil
Wa%é’r mﬁ%|w,.mmw%aaﬁa§fﬁm,waﬁwm
98 ¢ |

23




tion 143-14 Z-j: Read the information given pelow carefully to

ma'ﬂﬂﬂe*ﬁl'_blmd relation. While bl
smﬁ“ ; of amongd direct or indirect descendants of a person, socl
are e " 4 women each from two

\blished through marriage b m ‘ _
hip between each of them IS explained as

Sarika, Sonu, Jayati, Rana, Supriya, A
family. Amit and Rahul are the son and father duo
ason Sonuanda daughter Jayati Rana is the maternal U

Supriya 1s Rana's other sister,
es Rahul have?

143, WEa @ fbar iy /. Wit € 7 (How many nephews do
(] UH/One (b) EVTWO
(c) TT/Three (d) AT/Four
sa4 ST HT AIRH H T frgel 27 /How Rana related to Sarika
(a) 39/ e /Brother —in ~law by HTg/Brother
(c) Witer / WISl /Nephew (d) faar / Father
145. “gfﬁm &l ‘ﬂTﬁ‘ﬁ &y fRear 27/How is Supriya related to Sarika?
Wg [Sister (b) TSR/ HIST /Niece
(c) /Daughter (d) i /Mother

Srdwr o7 146 —150€ AT T PR / Direction (Question 146- 150): Complete

the series by replacing’?’
146, 26AZ, 24CX, 22EV, ‘7', 18IR
(a) 20HS
(c) 20GS f'?; ;g"G?. i
(d

147. AGMSY, CIOUA, EKQWC.?' |OUAG, KQWCI

e (b) FMSYE
148 3,7.13.21,31,2' s
Eg’) 3'? (b) 36
149. 975, 864, 753, 642,'7" 83
(o531 7
(b) 314

(d) 532




160. FUGT, HSIR, JQKP,'?'

(a) KNLO (b) LNNM
(c) LOMM (d) LOMN
31 A /IMATHEMATICS
151. 5000 STE = ... 9. 5000 decagram=............. kg
(a) 50 (b) 5 (c) 0.5 (d) 100

152, 3 8 HEYTNrammaiienraion 896.368 ¥. Sum of place values of the digit 8 is
8596.368

(a) 800.08 (b) 800.008 (c)8/100 (d) 8 +(8/100)

153. feuw aiv &3 (9/16)......(15/8) o7 COrr & 2& FF FU= @ T a9 &

far @l @1 ude R T W W@ TRT Observe the fraction given

(9/18)......(15/ 8) which symbol must be placed the blank area to make the statement
correct

(d) < . (b) > (€)=

......

(d) either b or ¢

154. de B & O dEw W HFC FY 5, 10, 15 IR 25 A 0T 2 Uw

IWEF F FE?Find the smallest number which when divided by 5, 10, 15 and 25

leaves no remainder? :
(a) 10 (6) 150 (c) 60 (d) 45

155. et 8 # XCF o7 ¥ UFHUA & O 3T Heuieud ¥ fraa Rrareff

3UFAT § (AT 3iF #)?There are XC students in Class 8" XL students are

absent todav. How many students are present (in roman numeral)?

@ L (b) XL (c) LX (d) X

] 70 ofie} urelr @2 Tank A contains 6
times as much water as Tank B- How much wate

. rmust Manoj transfer from Tank A
to Tank B so that each tank contains 70 litres of water? j :
(&) 50 liters (b) 60 liters

(c) 75 liters (d) 120 liters
157. 'Q & A &1 E0. What will be the value of 'a’
17 x(213)= 17 + (a +a)
(@113 (b)1/6 (c)2/3 (d)4/3

CET/DEC 2022/CLASS- VIf SET A :
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- A

. Ll e arRSASUNG
3 @ i o & The sumof theIFSEEs
¥ e o g oS A
bf gand 121 : e
(b) 36 (c) 63 U o
o 50 A AR TS & 500 TH gar &1 3 Clesy

grams and that

= oL 1 apple is 50 -
N 2 frere X2The weight of 1.2PP ther in
e i %'ght of 3 melon and 10 apples 109€
e wel -

elon ls. 500 grams. What is th e T
| (a) 1€00g . {%5) 2000 (c) 40009 |
a )

| h i ch measuring 22.5cm ':
de is to be paved wit rectangular tiles ea |
els

and 9 m wi _
e are required?

_ How many tiles 00
B ?2; 65000 (b) 70000 (c) 750 - #
‘ quf & 4% d ST H
161. 8000, 3% Sfx aw & & & fras §HT A 6,000, 3 . i
s & e &I what time will 8,000, at 3% per annum, procu =
L2 :
. aract as 6. 000 does in 5 years at4 %...
mtereg\.}:;i.m (b) Byrs (c) 3yrs | (d) 4yrs

162. waAEETALvalue of the function is (p®+q%) x r°
(a) 0 (b) 1 )2 (d) 3

163, TR 7 FERA 7 RF & 7 o A & a1 #Ed 1 e fraa Rt &
gaTuanelf 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in "3

many days?
(a) 1 (b) 772 A€) 7 (d) 49

‘come in place of question mark in the followi i
S ing question?

(a) 33 (b) -3 (Y17 e

: b
= oy opees. His gain percent /s lemons at2 for a rupee and se
a) 10%
(b) 159%
' \[2) 20%
CET"DE_C_ZWNELESSTG!? SETA
— iAo 0 RANSD)
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166, | upe FE3T AR 0 e R RN gEard wed 8. All natural numbers

and 0 are called as ........... Numbers | :
(a) Rational (b) Integers (¢ Whole (d) Prime

167, oI 3 A1 3ifAH FE A 123 UF qUEES & ¥Y A £ The last

number of five digits which has 123 as a factor is
(a) 10037 (5) 10086 (c) 10081 (d) 10063

168, 2 TS HET3HT X 3R Y (X)) &1 LCM 161 €1 (3Y - X) @ #H.The

LCM of two prime numbers x and y (x> y) is 161. The value of (3y - x)
(2y-2 (b) -1 (c) 1 (d) 2

169. & WEAIT 2:3 & Heura & ¥ I I WT 125 ¥ A FEAT |AS
HIfST. Two numbers are in the ratio of 2:3. If their sum is 125, find the numbers
(&) 50,75 (b) 24 36 (c) 20,30 (d) 32,78

170. EafafEa gut & wams =g (2) & T X F9IH9T fFgar 3 H1ET
qR0? (HTUR VAF Heg 6 0 & & 351 Fe7 &)What approximate value

should come in place of the question mark (?) in the following questions? (You are
not expected to calculate the exact value)
(9320 + 5405 + 1000) + (498 + 929 + 660) =7

(a) 13.5 (b) 4.5 (c) 16.5 (d) 7.5

171. @ &9 [T 297 84 ¥, 3rqurd 3 8 @ FEeiiTwo number whose sum

is B4 cannot be in the ratio
(a) 5:7 (b) 13:8 (c) 1:3 (dy 3:2

172. 600 & 150% & 0.02% #0.02% of 150% of 600 is
ia) 0.18 (b) 1.8 (c) 18 (d) 0.018

173, & & 1% A # 30T Fa9T 7 EWhat is the next number in the series
given below

2,5.9,14,20,

(a) 25 (b) 26 (<) 27 (d) 28

174, aﬁﬁsﬁtmﬁﬁm@&ﬁ?maﬁmwﬁmm?ﬁmm

&Y aca Srar &2If the length and breadth of a rectangle are doubled how does its

perimeter change?

(a) Tripled (5) Doubled (c) Halved (d) Remain same

CET/DEC 2022/CLASS- VI/ SET A Page 27 of 32
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175. UF 9% EHAT S & & Hag & 7 F 7T Fed &?What is the
amount of surface enclosed by a closed plane figure called

(@) Area (b) Perimeter (c) Volume (4 C'TGU"“:YE"CEI
of faces
176. Rword wad s wem R &MWhich soild has the greatest nUMmber
(a) vig ICone (b) e (Cylinder
(c) Frifora firsw /Triangular Prism (d) w7 [Cube

4 s an ferara
177. mﬁmmsmﬁm,mﬁmwﬂmﬁmmmﬁfﬂ; pablafon:
a1 R 3w 9 wEy? Avinash divided watermelon into 18 parts.Jy
them Divya ate 4. What fraction of watermelon remained

9
7 d) =
(a) = (b) = (= (@) 3
178. wa=A Solve 24 (8 x0.1) + (6 x0.01) +4 x (0.001) e
(a) 0.2864 (L) 2.864 (c) 28.64 (d)
179. was0Solve 3.92 x 4.08
(a) 16.0064 1) 15.9936 (c) 15.9908 (d) 16.0008
180. ww@awi Simplify 2a — [3b — {a — (2c = 3b) + 4c = 3(a— b — 20)}]
(@) Bc-3b (&) 8c + 3b (c)-8c-3b (d)-8c + 3b
181. wsw® 125% wn @ #? What is 125% of one hour ?
{z) 75 minute (b) 25 minute
(c) 125 minute (d) 60 minute

: 5]
182. mmmwwvﬁnlﬁa:ﬁmm S A, o oftyad aorer o e s B AL
simple interest a sum becomes = of itself in 2.5 years. The rate of interest per annum
is ?

(a) 8% (b 5> % (c) 620 ()4 5 0g
A 7
183. 7.5 e 3000 fore) 2t fserht aeret e <
filled up from 7.5 m'oil? / = #2How many 3000 mi botties are
(a) 250 {0)2500
¥ (c)750
(d)7500
184, The value of f1;";is; 12 o1 e
16 -
(a) 13 (bj12
i ©1125  (gyecy
. . AP /No
contecan o o 208 3 e s
numbers is 20. Th
(a) 24 (MZLNQ&S! of these(is w2 The average of 7
c) 22

Page 28 of 32
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'w —
186. Change into decimal form of 5 ;

;: = e &0 A #5 |
(a) 7.335 (b)7.235 (c)7.38 (4)0.375

487 The smallest number of 5 digit formed with the digits 3,084 and 1./3,08/4
3k 1 3| _aN5 st oY W BYE) T e il
(a) 10843 (b)10834 {c) 10348 (d)18034

188. vewagar 10:05 am a3 o dmame 3:40 pm a2 s A R gEEd A g A A
sy Fvn e v wa FsR? A bus started at 10:05 am and reached any place at 3:40
pm, find the time taken by the bus in whole journey.

(a) 5.25hrs/ae (4] 5.35 hrs/ae
(c) 6.25 hrsfae (d) 4.35 hrsfa
180, 2 3 TaR e svs s s &2 What is the greatest 2 digit prime number?
(a) 99 (b)91 (ey97 (d)87
190. 3 @A wad B wen e st 15 2 qofa: Rwrsa A IFind the smallest 3 digit
number which is completely divisible by 152/
(a) 999 (b) 101 () 105 (d) 909
191. Whatis 7.5% of Rs. 2000 / 2000 @ 7.5% Td?
(a) Rs. 1.50 T9 (b) Rs. 15.00 94
(c) Rs. 1500 =2 idjy Rs. 150 v

192. s afed 20 TRz H Awa R s iR IR IR 2 s it s aX @ e fean | d-ad
3 v e ufeE fsan &vm? A person bought eggs with the price of Rs. 20 per dozen
and sold them at the rate of Rs. 2 per egg. What is his gain percent in the

transaction?
(a] 20% (b) 40% (c) 25% (d) g A= 7@ (none of these

193, & e A aidiman: 10, 12 s 15 Rz 3 storer 3 aorh 2, aft & ufddi v s 8:30
amﬁm&’tt,zﬁ'&&fwfmﬂ arws w saasa The bells of three churches ring in the
intervals of 10, 12 and 15 minutes respectively. if those bells ring at 8:30am together,

when will those bells ring next time together? _
(a) 9:00 am () 9:30 am (c) 10:00 am (d) 12:10 pm

194, TG+ %) solve & +2)in a single fraction.
(3)35 (b) % ()= (d) g @ = =@ /none of these
195. 329075%7 a1 T 3 A 7 & € ol e mama? What is the difference

petween the place value and face value of 7 in 3290757 :
(2)63 (b)36 (c)49 (d)490

106 Rrsm e 540 e AT . a1 6 fFe e ae zrga g Vinod types 540

in half an hour, then how many letters will be typed in 6 minutes?
lotiets 1B (b) 240 (c) 270 (d)90

{a) 108
CET/DEC 2022/CLASS- VI SET A Page 29 of 32
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197. 67 S I B AR

(a) XLV kLo 5 -'-an numeral of 67 is?

S5 LXVIL (c) XXVII (d) DXVII

: A 3 B ¥ da s 3:2 3iuRs 2 Rwfava s e &, A A &1 5 393 gy
i Rs 1000'is divided between A and B in the ratio 3:2 then A will receive
(@) T 400 (b) T 500 (c) T 600 (d) ¥ 800

190, aft v v 4 e 10% 2 R e & 31 Fox 0% ) et o et . 2 e 7 e
T @ e sftver @A number is first increased by 10% and then reduced by 10%.
Then the new number will be how much of the first number

(a) @1¥ sRad= =@ /Does not change (0)-1%

(c) 1% (d) =3 9 = = /none of these

200. #= aftva o s e o 100 a2 5 ad a2 37t 31 a1 v s @ The sum of the
ages of three persons is 100 years. What will be the sum of their ages after 5 years: /
(2)100 = )115ad (c) 300 = (d) 305 &

LAE s

i |
i
L]
|

|
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SPACE FOR ROUGH WORK
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